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MTH 95: Intermediate Algebra

Winter 2020
Adding and Subtracting
Rational Expressions
1. Add or subtract the fractions/rational expressions.
a)g+l denoms : 3,4 )__i denoms: 12, \bL
3 4 foched * 3 22 12 16 fectoed : 2:2-3,2-2-2-2
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R .3 4 _ 5.3
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Instructor: Alex Jordan
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MTH 95: Intermediate Algebra Winter 2020

2. You drove to Salem, 45 miles away, averaging a speed of x miles per hour. On the way back

your average speed was 5 miles per hour slower. Let T(x) be the total amount of time spent
driving. Write a simplified formula for T(x).

ys
4=4S, 9= t-%

Y S
° > . T&)= 50 r o
P :):—‘{S 5= x-S, S = 1§ (x=3) N 4s =
/ :—“E‘ ke x-<) (x—S‘) ~
A\kmaif:*s e - YSx-21S YSx
Q""c\“‘ro ’_\ -
45 45 < ys ’S‘E *_;l._\ xCx—5") (%)
x T -5 _ "15( (s> _ 9ox ~21S
)‘ CX"S} (x—-s‘) K = (o)
=15 ( xCe-sy T x(v.-S'B

_ \15 (2*_§? = "lgcl'l( "%}

xCx- - x (x-S
3. You and a partner will paint the siding of a house this summer. This house "has 3000 square

feet of siding. If you work alone, you could paint it all in x hours. If your partner works alone,
they take 10 more hours than you do.

a) What is the rate (in square feet per hour) that you paint at?
3000

X

b) What is the rate (in square feet per hour) that your partner paints at?
2000

x+10O

c) If you work together, it makes sense to add your rates. Write a simplified expression for
the rate that you paint the house when you work as a team

3009 3000
X
=< X+ 194
- 3002 (x+\D) 3o (k)
X x+o) Cx\—\o) )

RO000O%x +

X (xmo) x (x0)
— LOSOx  +2Q030 6000 (x +5)
iy _ " 77
« (x+10) x (x+10Y)

Instructor: Alex Jordan



MTH 95: Intermediate Algebra Winter 2020

4. Here is an electrical circuit where a battery is wired to power two lights in parallel. The lights
are represented by the resistors. One has resistance x ohms, and the other’s resistance is 5
ohms more.

A%

x+5

With parallel circuits, the overall resistance R satisfies this equation:

1 1 1
_=_.+—
R R, R,

Find 3 for this circuit in terms of x.

1
N

xX+S

=1 CGus) LX)
X (x+3) Cx+s) x)

e
R

K+S ~
xCx45) ¥ w( X+ )
2x+S
*x(x+3))

S. Suppose a 1 kilogram object is in between the Earth and the Moon, x thousand kilometers from
the center of the Earth. Gravity from Earth pulls the object to the left in the diagram, while
gravity from the moon pulls the object to the right. (The numbers have been rounded a lot.)

x thousand km B q .
Earth Object Moon
) —400000000 = 5000000 !
X2 (400—x )2

The two forces are illustrated in the diagram. Add them together to get the net gravitational
force on the object.

—400p00,0C0 SpDOD OO — S, OO0,000 <‘80 |

= = —_—t —
x* (100 - x> x* (400 -~)

2,
= O (‘«00-&\ { _*LL

[ E— + - =
x* (A ~-x)* (Mo ~x}* X

=S,030000 < -a0( \(oOC?)—C)O — eoa: w2 X A }
*&E(HUo ) Xt Y

=5 ,OO0,000 (

= Sooooon [~12R0eee  + eqpeox ~ FAx®
' )
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